

REPUBLIC OF THE PHILIPPINES DEPARTMENT OF BUDGET AND MANAGEMENT REGION VIII

BAC Resolution Declaring Lowest Calculated and Responsive Bid, and Recommending Award of Contract for the "Catering Services for the Conduct of Bridge Program for Public Financial Management Assessment and Improvement Planning for Local Government Units"

RESOLUTION No. 2023-05-016

WHEREAS, the Department of Budget and Management ROVIII-BAC issued Request for Quotation (RFQ) to five (5) bonafide local suppliers namely: SAL'S BAR AND RESTAURANT, SOFIA'S WAY FOOD CENTER, MADISON PARK HOTEL, C PAVILION, and MOMMY'S DINER for the "Catering Services for the Conduct of Bridge Program for Public Financial Management Assessment and Improvement Planning for Local Government Units" thru Negotiated-Small Value Procurement with a total Approved Budget for the Contract (ABC) of ₱292,290.00;

WHEREAS, the RFQs were duly acknowledged and received by the above suppliers;

WHEREAS, in response to the said request, ALL have submitted their quotation within the deadline of bid submission;

WHEREAS, the quotations received were evaluated by the Committee on a "per lot" basis;

WHEREAS, upon careful examination of the quoted/bid, SAL'S BAR AND RESTAURANT was found to have offered the Lowest Calculated and Responsive Bid, as indicated in the attached Abstract of Quotation;

NOW, THEREFORE, We, the members of the Bids and Awards Committee, hereby RESOLVE as it is hereby RESOLVED:

- a.) To declare SAL'S BAR AND RESTAURANT as the bidder with the Lowest Calculated and Responsive Bid for the "Catering Services for the Conduct of Bridge Program for Public Financial Management Assessment and Improvement Planning for Local Government Units" and Recommend award of contract to the said supplier with a total contract price of ₱137,715.00 as computed per attached Annex A based on the number of confirmed participants per batch to include DBM employees;
- b.) To specify in the **Notice of Award (NOA)** that processing of payment shall be subject to compliance with the required documentary requirements provided in the procurement terms and conditions of the RFQ; and
- c.) To recommend for approval by the <u>REGIONAL DIRECTOR</u> of the <u>DEPARTMENT OF BUDGET AND</u> <u>MANAGEMENT ROVIII</u> the foregoing findings and recommendation.

RESOLVED, at the DBM-ROVIII Office, this 26th day of May 2023.

FLORITA M. LACDO-O Chairperson

LIBERACE N. LIMSIACO

EMILIO M. ALBOS III Member

JUVY A. LOBEDICA Vice-Chairperson

ABSAL N. ABAH Member

APPROVED

[] DISAPPROVED

IMELDA C. CERAS, CESO III Head of Procuring Entity Date

Villa Ruiz, Barangay 77, Marasbaras, Tacloban City Telephone Number/s (053) 888-0548, 888-0531 and 888-0423 | www.dbm.gov.ph



REPUBLIC OF THE PHILIPPINES DEPARTMENT OF BUDGET AND MANAGEMENT REGION VIII

NOTICE OF AWARD

May 26, 2023

The Manager SAL'S BAR AND RESTAURANT Tacloban City

Dear Sir/Madam:

This is to notify you that your Bid for the **Catering Services for the Conduct of Bridge Program for Public Financial Management Assessment and Improvement Planning for Local Government Units** for the contract Price of **One Hundred Thirty Seven Thousand Seven Hundred Fifteen Pesos (P137,715.00)** Only is hereby accepted.

Please refer to the attached signed quotation for the details of the specifications as well as the *Annex A* for the computation of the contract price based on the total number of confirmed participants. May we remind likewise that processing of payment is subject to compliance with the required documentary requirements provided in the procurement terms and conditions of the Request for Quotation.

For information and guidance.

Very truly yours,

IMELDA C. LACERAS, CESO III Regional Director

Conforme:

(Signature over Printed Name) Manager / Authorized Representative SAL'S BAR AND RESTAURANT Date of Receipt: <u><u>J</u> Nu 23</u>

> Villa Ruiz, Barangay 77, Marasbaras, Tacloban City Telephone Numbers: (053) 888-0531 www.dbm.gov.ph

computation of c	Contract Price per Confirmed Numbe			I UI ALLEHUEGS	
Date	No. of Confirmed Participants (pax)		Bid Price Offer	Total Price	
	LGU	DBM	Total		
May 29, 2023	33	21	54	05	F 120
AM snacks	_			95	5,130
LUNCH	-			170	9,180
PM snacks				120	6,480
Total				385	20,790
May 30, 2023	35	21	56		
AM snacks				120	6,720
LUNCH				195	10,920
PM snacks				135	7,560
Total				450	25,200
June 5, 2023	1.1				
AM snacks	81	21	102	120	12,240
LUNCH (beef)		2	2	195	390
LUNCH (pork)	81	19	100	185	18,500
PM snacks	81	21	102	105	10,710
Total					41,840
June 6, 2023	74	21	95		
AM snacks	1			120	11,400
LUNCH	1			170	16,150
PM snacks	1			150	14,250
Total				440	41,800
June 9, 2023	0	21	21		
AM snacks	1 -			135	2,835
LUNCH	1			250	5,250
Total		1		385	8,08

Appendix 61

PURCHASE ORDER

Department of Budget and Management

Regional Office VIII

Villa Ruiz, Bgy 77, Marasbaras, Tacloban City Tel. No. (053) 888-0548, & 832-1628

Supplier :		Sal'S Bar and Restaurant	P.O. No. :	2023-05-021	
Address :		Tacloban City	Date: Ma	ay 26, 2023	
TIN :			Mode of Pr	rocurement : Neg	otiated-SVP
Gentleme	en:				
Please	e furnish	this Office the following articles subject to the te	erms and co	nditions contained	d herein:
Place of D	elivery :	DBM RO VIII, Marasbaras, Tacloban City	Delivery Te	erm :	
Date of De	elivery :	See note below.	Payment T	erm : LDDAP-AD	A
Stock/					
Property	Unit	Description	Quantity	Unit Cost	Amount
No.					
		Catering Services for the Conduct of			
		Bridge Program for Public Financial			
		Management Assessment and			
		Improvement Planning for Local	1 1		
		Government Units (LGUs)			
		Dates/Pax:			
		5 - day Activity * May 29, 2023 (8:00 AM to 5:00 PM)/135			
		pax			
		* May 30, 2023 (8:00 AM to 5:00 PM)/129			
		pax	1 1		
		* June 5, 2023 (8:00 AM to 5:00 PM)/129 pax		~	
		* June 6, 2023 (8:00 AM to 5:00 PM)/123			
		pax			
		* June 9, 2023 (8:00 AM to 1:00 PM)/21 pax			
		a. Food requirements (Packed AM/PM Snacks and Lunch)			
		May 29, 2023 (135 pax)	54	385.00	20,790.00
		AM Snack:			
		Cream Cheese Garlic Bread			
		Lunch:			
		1 pc Fried Chicken			
		Stir-fry Vegetables with Seafoods			
		1 rice			
		PM Snack:			
		Classic Cheeseburger			
		May 30, 2023 (129 pax)	56	450.00	25,200.00
		AM Snack:			
		Chicken Salad Sandwich			

	Lunch:			
	1 Beef (Beef Caldereta)			
	Empress Roll			
	1 rice			
	PM Snack:			
	Spaghetti with Garlic Bread			
	June 5, 2023 (129 pax)	102	440.00	11.010.0
	AM Snack:	102	410.20	41,840.0
	Tuna Sandwich			
	Lunch:			
	1 Pork (Sweet and Sour Pork) - 127pax			
1	1 Beef (Beef with Brocolli) - 2pax			
	Stir-fry Vegetables with Seafoods (129pax)			
	1 rice			
	PM Snack:			
	Bam-i with Bread			
	June 6, 2023 (123 pax)	95	440.00	41,800.0
	AM Snack:			
	Ham and Egg Sandwich (121 pax)			
	Classic Cheese Burger with TLC (2 pax)			
	Lunch:			
	1 Chicken (Chicken Terriyaki)			
	Ampalaya Con Carne			
	1 rice			
	PM Snack:			
	Lasagna with Garlic Bread			
	June 9, 2023 (21 pax)	21	385.00	8,085.0
	AM Snack:		505.00	0,000.0
	Suman with Mango with Hot Chocolate			
	Lunch:		2	
	1 Beef (Roasted Beef with Mushroom)			
	1 Seafood (Garlic Shrimp in Butter)			
	Chopsuey Guisado			
	1 rice			
	b. Terms and Conditions:			
	Award of contract shall be based on the number			
	of confirmed participants as of May 26, 2023 but			
	not to go beyond number of participants			
	indicated herein, which is considered the			
	maximum.			
	Delivery Periodo:			
	Delivery Periods:			

the state of the s

1	For ALL dates:	
	a. AM Snacks - 9:30am	
	b. Lunch = 11:30am	
	c. PM Snacks - 2:30pm	
	TOTAL	137,715.0
ne-tenth (1/ We res le agreed sp onforme: (Sig	nature over printed name)	ase of defects and if found not in accordance with Very Truly yours, <u>IMELDA C./LACERAS, CESO III</u> Regional Director
	r:	ORS/BURS No. :
Inds Availa	able :	Date of the ORS/BURS:
	(\mathcal{M})	Amount :
	MA. JOANNA C. LANTAJO	Amount :
	Alternate Accountant	